Percentage of an Amount

Calculate the percentage of each quantity, then locate each answer in the grid. For example, if the
answer is 898, circle it as shown. Answers can be vertical, horizontal or diagonal. They may also be in
reverse order. For example, 321 could be shown as 123. You may use a calculator to help you answer
these questions.
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Example: 20% of 4490 = 898

1. 50% of 8740 = 11. 10% of 81 180 =

2. 60% of 4460 = 12. 2% of 239 400 =

3. 20% of 48 935 = 13. 4% of 66 575 =

4. 50% of 4348 = 14. 16% of 50 612.5 =
5. 25% of 8840 = 15. 20% of 34 835 =

6. 4% of 68 150 = 16. 96% of 2393.75 =
7. 5% of 107 900 = 17. 45% of 3420 =

8. 25%0f 29 176 = 18. 25% of 8780 =

9. 40% of 13 605 = 19. 40% of 18 445 =

10. 15% of 62 600 = 20. 0.5% of 1 984 600 =
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Percentage of an Amount Answers

Calculate the percentage of each quantity, then locate each answer in the grid. For example, if the
answer is 898, circle it as shown. Answers can be vertical, horizontal or diagonal. They may also be in
reverse order. For example, 321 could be shown as 123. You may use a calculator to help you answer
these questions.
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Example: 20% of 4490 = 898

1. 50% of 8740 = 4370 11. 10% of 81 180 = 8118
2. 60% of 4460 = 2676 12. 2% of 239 400 = 4788
3. 20% of 48 935 = 9787 13. 4% of 66 575 =2663

4, 50% of 4348 = 2174 14, 16% of 50 612.5 = 8098
5. 25% of 8840 = 2210 15. 20% of 34 835 = 6967
6. 4% of 68 150 = 2726 16. 96% of 2393.75 = 2298
7. 5% of 107 900 = 5395 17. 45% of 3420 = 1539

8. 25%0f29 176 = 7294 18. 25% of 8780 = 2195

9. 40% of 13 605 = 5442 19. 40% of 18 445 = 7378

10. 15% of 62 600 = 9390 20. 0.5% of 1 984 600 = 9923
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